107!

1072

Ties D
. (<3 -0.03
| s Bey
onstant 0
- - Mean =0.
mna. 171
Ties B
€; -0.03
& Bey
onstant 0
ear =0
| 3 171

0.95,

-10-8 6 -4 -2 0 2 4 6 8 10

[ pull of goverp parameter |

107!

1072

107

[y
TTT T[T T T

[
o
A
[T

0.95,

-10-8 6 -4-2 0 2 4 6 8 10

=== DQM_T1__0riginalREDOUIU0
|_ DQM_TT__originalREDO100f

[ pull of @parameter |

res

107}

1072

1073

[any

S

I
T

=
G 2
€ 0.0/

B9 -8 =

6 4-20 2 4 6 8 10

[ pull of dxy parameter

107}

1072

Jany

S
IS
T

P08 6 4 2 0 2 4 6 8§10

[ pull of 6 parameter |

107}

1072

1073

107 i ! | FRREANRS | B ARSEAE:
e A R A | T i
= A
g f S
o [ : : : : : : : :
£ A A A S

B9 -g =

6 4-20 2 4 6 8 10

[ pull of dz parameter |

0.95, L

i

AP SRS SR AOU - P S S

P08 6 -4 2 0 2 4 6 8§10



	Contents
	Page 1


